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T fdw
[HEeTRI 14691 %1 STqa® Gieq 3R F7HT TeT BT :
(i) FFIT-YT G HT 30 Fo7 & | G 597 A Z |
(1) ¥¥7-97 qiq @S § [a91f3d 8 — GUe-F, @, T, §uq & /
(iii) @UE—F : o7 GEIT1 G 17 T TgldehcT1T YR & 597 8 | 5o 397 1 3F HT1E |
(v) GUE— : J57 G&IT 18 T 19 Gid-JTeRT F97 & | II%F 97 3 b1 FT 8 |
(v) GUE—T:J57 G&T20 23 7% TG-ITNT JHR 3 J97 & | JAF J97 3 3] 7 3 |
§7 3971 71 IR 80 G 100 31551 § [o7@7 ST 11T |
(vi) TUE—¥ : T3 &I 24 T 28 T GIE-3FHIT YHR & 97 & | I9%F Yo7 5 b BT & |
§7 3991 71 I 120 G 150 71551 7 1or@7 7 =115 |
(vii) GUE—F : J97 GE&IT 29 T 30 Tl ITENRT I97 8 | I9% J97 5 3H] F18 |
(viii) q% IR, &7 § 1o givanera ientear & 1orq fara aorm grfem 37s e 3o+t
& T T T 373 F97 1637 1 & | 57 1 & IR et GIeanerd wiam & i@ |
(ix) Ho7-99 5 GaF faecq 787 197 1 & | Fefd, @Us- 3 i 3 @Usl & & Fo1
7 37aRe® faebcq &HT 77 1697 TIT & |

T E -
T GET 1 9 17 Sgfashedia TR S T § | 17x1=17)

1. Aafivegdrg 6 Gehedn o GRI I&d 1 TS | 1
(A) uetlerd (B) . dua
(C) Tuftrer 3o (D) TEIE

2. “HHY e A THTS 3T EXIdet o S e} 1 GYeitd T4 8 |7 Ja et shi
WUME_ HENAER 1
A) foe-g-on = (B) = sesmH
(C) f (D) TS

3. Trfeifaa @ 9 -1 v faw o €9 1 il 1 §& TR & ? 1
(A) e forator 3R 39eh! THIferd S aTel hieh] ol THZHT |
(B) GHTE - TareRur 37X 3k 3TN < & Hae ol THSAT |
(C) Tt ! WG o ST 3R Heh! TE-1IaT ohl HHSHT |
(D) et I STeh(ceh HETEHT 1 T 3R ITeh 3Tehe i THFHT |
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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it) Question paper is divided into five Sections — Section A, B, C, D and E.

(iti) Section A — Questions no. 1 to 17 are Multiple Choice type questions.
Each question carries 1 mark.

(iv) Section B — Questions no. 18 and 19 are Source based questions. Each
question carries 3 marks.

(v) Section C — Questions no. 20 to 23 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions shall be
written in 80 to 100 words.

(vt) Section D — Questions no. 24 to 28 are Long Answer type questions. Each
question carries § marks. Answer to these questions shall be written in
120 to 150 words.

(vit) Section E — Questions no. 29 & 30 are Map based questions. Each
question carries § marks.

(viir) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix) There is no overall choice given in the question paper. However, an
internal choice has been provided in a few questions in all sections other
than Section A.

SECTION - A
Question no. 1 to 17 are Multiple Choice Type Questions. (17 x 1=17)
1. The concept of ‘Neodeterminism’ was introduced by i 1
(A) Ehrlich (B) C. Semple
(C) Griffith Taylor (D) Humboldt
2. “Human geography is the synthetic study of relationship between human
societies and earth’s surface.” This definition of human geography is given
by i 1
(A) Vidal-de-la-Blache (B) Richard Hartshorne
(C) Ritter (D) Ratzel
3.  Which one of the following is the core concern of geography as a discipline ? 1
(A) To understand population distribution and the factors affecting the same.
(B) To understand the relationship between resource distribution and its

utilisation.

(C) To understand the earth as the home of human beings and its
sustainability.

(D) To understand the earth as the home of natural resources and their
estimation.
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4. 3qcyd H § Fefud FEfaiaa el & egEs uier 3R T8 foshed w1 9
Eﬁﬁfq: 1
(i) ¥ 9 G ¢ 8 QL ST B & |
(i) ¥ O THE T AT ot FeprEi A IS B 8 |
(iii) ¥ I FRE T ATl @S AT SR g T8I & |
(iv) i, 31eT 3TN EHICIE TG T & S e § |
fersheq
(A) I (Q), (ii) 3N (iii) FETF |
B) Haa (i), (i) 3N (iv) g8 2 |
(C) e (i), (iii) 3R (iv) @& 2 |
(D) e (ii), (iii) 3N (iv) FE1 2 |

5. = g e fer mu # | 3 e (A) 3R e (R) B | g1 AT b1 SIHgEe afeu
IR & fereshed 1 =39 hifoT 1
ANRYT (A) : AT AR YT o ToTW BTehTeh TTferd 1 Hehe 2 |
ST (R)  : 359 A <3N W FHfat oig Iepdl B, Forad ol 81 dehar 2 |
forerey
(A) THI (A) 1 (R) T2 8 31 (R), (A) 1 98 A ¢ |
(B) @I (A) a1 (R) & &, <ifehd (R), (A) 3! 62l =T 81 ¢ |
(C) (A) @&l g, @fehd (R) T 2 |
(D) (A) T 7, i (R) T&T 7 |

6. T e i qfd o fetu frferfea o @ w&l foshed o1 o=@ Hifvw 1
3y fes TE o, IR fowe o 3fdes wmaAt 3R gt Ht YoEfa g |
ferepey
(A) feuefi =mr Aifa (B) wgHefty =mw i
(C) JFARYH =R ifd (D) 3TAReh 3TTeeFehdT Hifd
7. WA o FEfRagd TR s 3 Ufaatiies foeh & STaR W I=AaH ¥ TeiHdH o 3 |
IR hHIfT 3T TE forehed o1 == HifvT 1
Q) = (i) TETR
(iii) e (iv) @S
forerey
Q) (i), (v), (i), () B) (i), (iv), (@), (ii)
(C) (iv), (i), (@), (ii) (D) (iv), (ii), (i), ()
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4. Read the following statements regarding inland ports carefully and choose
the correct option : 1

(1) These ports are located away from the sea coast.

(1) These ports are linked to sea by inland water bodies.

(111) These ports are accessible by flat bottomed ships or barges.

(iv) Kochchi, Aden and Honolulu are some of the examples of inland port.
Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (1), (11) and (1v) are correct.

(C) Only (1), (111) and (1v) are correct.

(D) Only (11), (111) and (1v) are correct.

5. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option : 1

Assertion (A) : ‘International trade may prove to be detrimental to
nations.’

Reason (R) : ‘It may lead to dependence on other nations causing
exploitation.’

Options :

(A) Both (A) and (R) are correct and (R) is correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s not correct.

(D) (A) 1s incorrect but (R) 1s correct.

6. Choose the correct option to fill the blank : 1
“In modern times, trade is the basis of the world’s economic organisation
and is related to the of nations”.
(A) Dbilateral trade policy (B) multi-lateral trade policy
(C) foreign trade policy (D) internal need policy

7. Arrange the following towns of India as per their historical evolution from

the oldest to the newest order and choose the correct option : 1
(1) Chennai (11) Gandhinagar

(111) Patna (1v) Lucknow

Options :

A) (), ), @), @) B) (), ), @), (1)

(C) (v), (), (@), (1) (D) (), (1), (@), @)
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8. YN hl T sfeqai & Ty § frfeiaa sl sl e ufen 3R el fashed o
Wsﬁﬁ&: 1
G) g T afegt s sg |
(i) TR T SfEET G8d (Fe) 3 TS AHR 612 |
(iii) ¥ fafaer TR o TR-HN >R § FAH ¢ |
(iv) O el <1 urHior sfeaat o are Hiun ey giar @ |
forereg
(A) g (i), (i) 3 (iv) g8 & |
B) I (i), (iii) 3R (v) FEI2 |
(C) e (ii), (iii) 3R (iv) G&1 & |
(D) e (i), (if) 3R (iii) =1 & |

9. =g feg e B | 3 AfreRu (A) 3R SR (R) € | GFT AT 1 eagEeh afey
IR TE ferehed o1 =94 HIfT 1
IR (A) : PN H TG TS I, SR 3R Ifeawfl ST T o Al FHHl &
Hhe HITAFAT R R 2 |

SO (R) @ A &R QAT 6t g § = & fore sl qeer o1 3w fohen
ST R |

CETo

(A) I (A) 71 (R) 981 & 3 (R), (A) 6l 98l =T 2 |

(B) THI (A) 71 (R) W& 8, wfehd (R), (A) o Ul Sa1 T8 ¢ |

(C) (A) w@i=&l g, dferd (R) §&1 3 |

(D) (A) H& 2, iferd (R) G812 2 |

10. 3feu meft TaX afEern & gefud e weEi i emgas afet 3R 98 foshed &1
WW: 1
() st el T8 qRESET S 1950 T haX B9 gRI Hehfodd fohal TR T 3T 35!
1961 5 IRY fopam TR o |
(i) et g <Al YR U TS & shi HiY rfTawdT § Seog-g IiEdH TR |
(i) e TS o TER & Wt % & 3N ued gEar H g gS R |
(iv) SIR-FTSR shl AT BEe! i T8 3R =rae 3nfe 7 wfaenfua s fean 2 |
foerey
(A) e (i), (ii) 3N (iv) HEE | (B) ke (i), (ii) 37 (iii) & € |
(C) e (1), (iii) 3 (iv) TETE | (D) e (ii), (iil) 3T (iv) TETE |
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8. Read the following statements regarding urban settlements of India
carefully and choose the correct options : 1
(1) All urban settlements are manufacturing centres.

(11) Urban settlements are generally compact and larger in size.

(111) They are engaged in a variety of non-agricultural activities.

(1v) The urban settlements have direct relation with rural settlements.
Options :

(A) Only (1), (11) and (1v) are correct.

(B) Only (1), (111) and (iv) are correct.

(C) Only (1), (111) and (1v) are correct.

(D) Only (1), 11) and (i11) are correct.

9. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : ‘The agriculturally rich states of Punjab, Haryana and
western Uttar Pradesh are facing the crisis of groundwater
depletion.’

Reason (R) : ‘More groundwater is utilised for irrigation than water-
table recharge.’

Options :

(A) Both (A) and (R) are correct and (R) is correct reason of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct reason of (A).

(C) (A) 1s not correct, but (R) 1s correct.

(D) (A) 1s correct, but (R) 1s not correct.

10. Read the following statements related to Indira Gandhi Canal Project
carefully and choose the correct option : 1
(1) Indira Gandhi Canal project was conceived by Kanwar Sain in 1950
and it was launched in 1961.

(1) Introduction of canal irrigation has brought perceptible changes in
the agricultural economy of the command area.

(111) Spread of canal irrigation has led to increase in cultivated area and
crop intensity.

(iv) Traditional crops of jowar, bajra has been replaced by rice and wheat
etc.

Options :

(A) (1), (11) and (1v) only are correct.

(B) (1), (11) and (111) only are correct.

(C) (1), (111) and (iv) only are correct.

(D) (1), (111) and (1v) only are correct.
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11. YR % SFREE AR T Fafa F=faRad ST ol eI qiet 3R &l foshed &1
Wsﬁﬁ&: 1
() IAHTH AN TR NI AT Tl gE 2 |
(i) RA % q¢ T T 7 H gigspfd a2 |
(iii) PISAT IO St AT § 18— 373=h o HITd Har 2 |
(iv) WHI-ShH TEg3T T FHET gRT NEe T ogd 9T 2 |
ooy :

(A)  Had (i), (i) 3 (iv) T & |
(B) heret (i), (ii) 3 (iii) T & |
(C) e (i), (iii) 3R (iv) T& & |
(D) e (ii), (iii) 3N (iv) FE1 2 |

12. &mﬁ%%gﬂﬁaﬁﬁ(slums)wﬁwﬁwwﬁam%a%?
e forehed o1 == ShIfNTT : 1
() TTH GUS SfEATH el SR B g |
(i) YT R ST S g glaed firem givea 8 |
(iii) ToTEIeRt giRfRIfaaT I Ueiel TR § |
(iv) gt e - Fremret glaand suerey § |
Ty :

(A) ad (i), (i) N (iii) TEE |
(B) dd (ii), (iii) 3R (iv) G&1 2 |
(C) e (i), (iii) 3R (iv) HET € |
(D) e (i), (ii) 3R (iv) TN & |

13. T ¥ & MG Tt d Fot R yaeq wesy f=fefea # @ foem wem g

IEGELE GRS 1
A) T e (B) TR
(C) i (D) =g

14. ¥Rd § U=, 9IST, UTeAl, 7T, @0t 3Tfe T am f=faiRad § 9 forg wenr <6t amfior
eI o IeEw 8 2 1
(A) Tfesd st (B) 3g-Tf<sd s&it
(C) deedt s&t (D) ffere st
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11. Read the following statements related to international trade of India
carefully and choose the correct option : 1

(1) India has a long coastline surrounded by ocean from three sides.

(1) Indian coasts have large number of well-developed sea ports.

(111) Kandla port exports huge amount of iron-ore.

(1v) The transportation cost by water is very cheap for voluminous items.
Options :

(A) Only (1), (11) and (1v) are correct.

(B) Only (1), (11) and (111) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (11), (111) and (1v) are correct.

12. Why is it that slums are the areas of residence with least choice ? Choose
the correct options : 1

(1) They have dilapidated houses with poor ventilation.

(1) The basic facilities like lights and toilets are difficult to get.
(111) Hygienic conditions and drinking water are improper.

(iv) Better drainage facilities are available.

Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (11), (111) and (iv) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (1), 1) and (iv) are correct.

13. The watershed management programme in Jhabua district of Madhya

Pradesh is funded by which one of the following ministries ? 1
(A) Rural Development (B) Environment
(C) Transport (D) Irrigation

14. Local names like Panna, Para, Palli, Nagla, Dhani etc. are examples of

which of the following types of rural settlements in India ? 1
(A) Clustered settlement (B) Semi-clustered settlement
(C) Hamleted settlement (D) Dispersed settlement
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FreferRaa dforent w1 SIYE® 31 SHIfSTT 3R T 9. 15 & 17 o I fetfien :

WRA T Fid 99 : 2009-2017

(Fraria § wirera 37
e /A 2009-10 | 2010-11 | 2015-16 | 2016-17
FN TG FHA 3G 10.0 9.9 12.6 12.3
I T @S 4.9 4.0 1.6 1.9
fafafila axq 67.4 68.0 72.9 73.6
Ui & IR 301G 16.2 16.8 11.9 11.7
I T 1.5 1.2 1.1 0.5
15. fr=fafaa o @ fopm Soft 61 axgati & Fafa 1 2015-16 & 2016-17 e feehad fit@e
TAHITE R 2 1

(A) BN wa uerfi 3Tq (B) T T WS
(C) Ugiferem 9 STaitsha 3TQ D) IF T

16. Tr=feRaa o 9 ferm Soft 1 awq3ii & 3Faid 2010-11 8 2016-17 7o T3t 1 9fg e
TS ? 1

(A) PN T qHT IcTE (B) 3% IR @S
(C) Uiferem 9 STaftshd 3TQ D) IFTTHT
17. frefafaa o & form soft 6t sxgati & frafa o i afg feerf et 2 2 1
(A) PN T gHali 3c1g (B) 319%F 3R @i
(C) fafafia axqd D) IFTTHT
Qg -§

Y99 G118 T 19 -3 991 8 |

18. feu T 31g=eig o eIy UfeU 3R 35k = feu e i < I ferfiaw
HTEE T HISH HIIE
T Gl b TR 1 3 TeHeh el THe 379 Sfie-fdTg o fore 31 i < ardmero
W R A ar | gt fea-frals § wehR & SRt gRI BT o7 ¢ (%) U3l T 3TREe
ek 3TN (@) 3T T o STCAT & @ I ST N TG Shg—Te 317 hl Tehird i |

(2x3=06)
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Study the following table carefully and answer the Question No. 15 to 17 :

Composition of India’s export : 2009-2017

(Percentage share in exports)

Commodities 2009-10 | 2010-11 | 2015-16 | 2016-17
Agriculture and allied products 10.0 9.9 12.6 12.3
Ore and minerals 4.9 4.0 1.6 1.9
Manufactured goods 67.4 68.0 72.9 73.6
Crude and petroleum products 16.2 16.8 11.9 11.7
Other commodities 1.5 1.2 1.1 0.5

15. Under which one of the following category of commodities, maximum

decline in export is recorded from 2015-16 to 2016-17 ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Crude and petroleum products (D) Other commodities

16. Under which one of the following categories of commodities, the increase

in export is observed from 2010-11 to 2016-17 ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Crude and petroleum products (D) Other commodities

17. Under which one of the following category of commodities, increase in
export 1s continuously observed ? 1

(B) Ore and minerals
(D) Other commodities

(A) Agriculture and allied products
(C) Manufactured goods

SECTION -B
Question no. 18 and 19 are Source-Based Questions. (2 x 3 =6)

18. Read the passage carefully and answer the questions that follow :
Hunting and Food Gathering
The earliest human beings depended on their i1mmediate
environment for their sustenance. They subsisted on : (a) animals which
they hunted; and (b) the edible plants which they gathered from forests in
the vicinity.
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FnfeTerTel= TuTe STeft Tegati W fel o | srfefia v s T wee % @A
el AN ARG G -0 B & | qehrAleh! bt & RO Jafd Ao-Tg0
YRR & o &1 T &, T qead! &= § @ arel 379 ot TSell Tohe
SR A & | 799 RIAR o SR S 6w IAfai MA@ ST TS E AT TR H | |
UT{H-hTeT & ARGeeh TR IT Tehel o & TSI T R T[S ohl FINT ohid o, fad
IR A aTet T3 <hl T it et off |

IS T8 Ud R T=Haw 1 arteies framd 2 | fava & faftm vt o o5 e
Tl wt o fafim w0t 4 fohan Srar 2 | vieH Turg 1 ek Joangfash eenati 1 fon
JTAT 8 | 39 HAThaX ITTCHhTEA THTST o T Hid & | T AT 379 WIS, o6 T 35
Sl STTETIhaT hl Gfd &g T T ST 1 §UE HId & | IH DM o [o1C g A Ioit
Tg T T TRrIeh! T <hl STTEREhal ail & | 390 WisH Afeey ot 72 & & w@ fd
fe ScaTeehar ot S il 7 |

(18.1) SHTeH T3 oh 3799 AR o TG T GeoTehd hIFT | 1

(18.2) 3feH et H y3[aTi 1 e Hifta =it o 7 = e Hifvw | 1

(18.3)  3feHepTeli Ts 379 Ty < ararereT W v =i o1 2 =men i | 1
19. fr=fofaa arferest o1 eamyde st Hifve 3 3aes = few e gt w1 3w e - 3

G B A ffer "=
I AT -3TAT foifdn sowpar s | aed SN A iy
yfewra <1 yfewra

o 1950-51|2014-15 | 1950-51 | 2014-15

Y AR T YW 8.0 4.0 13.4 6.8

QU Wt 6.1 3.6 10.2 6.2

A Tt 3.7 4.9 6.2 8.4

[EEREIRIKIRIRE 41.7 45.5 70.0 78.4

Hehel Y AT offy 59.5 58.0 | 100.00 | 100.00

(19.1) 1950-51 <1 o1 H 2014-15 H HiY A ffH H T o HRUT 1 Seoh 1T |

(19.2) 1950-51 1 G H 2014-15 % SRH Fa0H T YW H ghg o SR H
Ioolg HINT |
(19.3) ot o 7w & o FRar gfg 3 R 6t e i |

64/2/2 Page 12 ~



™ collegebatch con

Primitive societies depended on wild animals. People located in very
cold and extremely hot climates survived on hunting. The people in the
coastal areas still catch fish though fishing has experienced modernisation
due to technological development. Many species, now have become extinct
or endangered due to illegal hunting (poaching). The early hunters used
primitive tools made of stones, twigs or arrows so the number of animals
killed was limited.

Gathering and hunting are the oldest economic activity known.
These are carried out at different levels with different orientations.

Gathering is practised in regions with harsh climatic conditions. It
often involves primitive societies, who extract, both plants and animals to
satisfy their needs for food, shelter and clothing. This type of activity
requires a small amount of capital investment and operates at very low
level of technology. The yield per person is very low and little or no
surplus 1s produced.

(18.1) Examine the impact of poaching on wild animals. 1

(18.2) Why was hunting of animals limited in early times ? Explain. 1
(18.3) Why did early man depend upon his immediate natural

environment ? Explain. 1

19. Study the following table carefully and answer the questions that follow : 3

Composition of Total Cultivable Land

As a percentage | As a percentage
Agricultural Land use of Reporting of total
Categories Area cultivable land
1950-51|2014-15|1950-51|2014-15
Culturable waste land 8.0 4.0 13.4 6.8
Fallow other than current fallow 6.1 3.6 10.2 6.2
Current fallow 3.7 4.9 6.2 8.4
Net area sown 41.7 45.5 70.0 78.4
Total Cultivable Land 59.5 58.0 100.00 | 100.00

(19.1) Mention the reason for the decrease in cultivable waste land in
2014-15 as compared to 1950-51.

(19.2) Mention the reason for the increase in current fallow during
2014-15 as compared to 1950-51.

(19.3) Explain the reason of continuous increase in net area sown.
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Qug - T
9 GE 20 § 23 AY-ITHT THR B T & | 4x3=12)

20. TS STAUNT & G o1 3T hHIfT 30T 39k A= feu g o1 3o feifaw

_80 79°30°

IEA Semwt
(20.1) 39 < 1 9 TerRay fores UsT T 1 ATrehe 9T 3T 8 | 1
(20.2) 39 Q1 <9 o A frfaw s senfires 85 o1 T8 7<) Siedt 2 | Y+ =1
(20.3) TS e} forvat o1 waifies SUART 3R ST STeTT SeTdwT &1 & 2 1

e : Trateiaa w1 waa giEerita whenfiE & fore s @@ 20 F WA W E |
(20.1) 3 N % ATH ol Ieoid hiT, Fedl T STermnt 3™ ol A A IE a2 |

o

(20.2) 38 Y@ T -TA 1 4 fIRaw Sret Ued ¢ I9d AR # frerdt 7 | 1
(20.3) STTUSY o7 TSTHTT o ®Y T TET A1 o Hawd ol T8 T | 1
21. (a) fova &S & foa W F@, ST 6l ITeiedd 3R T Il hi Yfieht 6
TG HIT | 3
JAYAT
(b)  SHTIhehIT Tl TG <hl i FaETT <hl 9@ Hifvu | 3
22. YA Y U< BT ohl T feremyarati <t e Hifs | 3
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SECTION - C

Question no. 20 to 23 are Short Answer Type Questions. (4 x 3 =12)

20. Study the map of Rhine waterways and answer the questions that follow :
80° 79°30°

Rhine Waterway

(20.1) Name the country in which most of Rhine river lies. 1

(20.2) Name two countries whose industrial areas are connected by river
Rhine. Yo+ %=1

(20.3) Why is river Rhine world’s most heavily used waterway ? 1

Note : The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 20 :
(20.1) Mention the name of the country from where the Rhine waterway

begins in the upstream. 1
(20.2) Name the major sea port where river Rhine falls into North Sea. 1
(20.3) Explain the significance of river Rhine as a water highway of

commerce. 1

21. (a) Examine the role of climate, water availability and soil fertility on

the distribution of world population. 3
OR
(b) Examine three stages of demographic transition theory. 3
22. Explain the main features of State Highways in India. 3
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R | T S7afdne fuem 6t gow o qanem o fore 3um ggmse | 3
Qg -
9 G 24 § 28 Ge-300T ThR B T8 | (5 x 5=25)
AHa foeE 4 gfg & T99 § 3w 89 g G 7T YN hi TG hHiT, | T
forhTE o IR J&T ST 1 T@ HINT | 5
(a) Tord srefemaen < faehm # HaT &= 6l gfg U6 7e™ &I Jediehd hitv | 5
YAl
(b) Tora sreieraen § UiEs Td HaR Ha1311 31 9§ Td HEw 1 Yoo iU | 5
(a) T SIEREAT <ht Umior Ue Sredt feriwarati o1 fargeiwor shife | 5
AT
(b) WA B ysiie e dued & g faemarat w1 foveryor Hifs | 5
(a) Toava o =2 Jum = fafmior e i geg fosivansti 6 smen it | 5
YAl
(b) Towa @ 3= MeNfrehy 32 6t g fersmyaradt shi =mean it | 5
(a) I IRG @S qETeHT § 99g 3 TR oft -wim W @iei 1 foqon srcrfees
A & 1”7 39 HUH 1 oo hIT, | 5
YAl
(b) “Tad AUl fershr o fotu Wit TTeHT o1 eI 31fe SATavah § 17 39 HUH HI
HeTeh SHITT | 5
T@Ug - §
3 AT 29 T§ 30 WHiE-aia 9 § | (2 x 5=10)

Torzar o Terifoer T@T-wHRE W AT Wimfess @i sl A, B, C, D, E, F 31 G & ®4

T 3ferd foram TR B | 399 © Tohegl Ui bl TeaH shifole 3K 39eh Ty Wil 75 W1 W
3Rt A ferfan 5
S T U I g -uee

YR-HT3HTE {oTd 1 2Tt &

Teh ARG g~

TatEs wgu 1 uh &=

Teh HeweqUl SIeTH

“TAITE TIERVT 1 Th &

Tereqa anforfSereh arTet iy 61 Tk &

CHEOOW R
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23. Suggest the measures to solve the problems of urban waste disposal in India. 3
SECTION -D
Question no. 24 to 28 are Long Answer Type Questions. (5 x 5 = 25)

24. Explain the approach suggested by Amartya Sen to increase human
development and examine the four major aspects of human development. 5

25. (a) Assess the growth and significance of service sector in the

development of the world economy. 5
OR
(b) Assess the growth and significance of transport and communication
services in the world economy. 5
26. (a) Analyse the rural-urban characteristics of Indian population. 5
OR
(b) Analyse the main features of the composition of working population
in India. 5

27. (a) Explain the main features of large scale manufacturing industries in
the world. 5
OR
(b) Explain the main features of ‘High Tech’ industries in the world. 5

28. (a) “Although India is richly endowed with a variety of mineral
resources yet distribution of minerals over space is highly uneven.”

Evaluate the statement. 5
OR
(b) “For the sustainable development, there is urgent need for the
conservation of mineral resources.” Evaluate the statement. 5
SECTION - E

Question no. 29 and 30 are Map Based Questions. (2x5=10)

29. On the outline political map of the world, seven geographical features have
been marked as A, B, C, D, E, F and G. Identify any FIVE of them and
write their names on the lines drawn near them : 5

Major sea port in Germany.

Terminal station of Trans-Siberian Railway.

An international airport.

An area of subsistence gathering.

An important waterway.

An area of ‘Nomadic Herding’.

An area of extensive commercial grain farming.

CEETOR
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die:  frafaRad w e gfvariia whenfRt & foe e @@ 29 % R W E |
Teregi ute =1 3 ferfae 5x1=5

29.1 ST % Ush T HHE -0 1 AW ftfen |

29.2  UR-TTESEA Wmrl % ged e fiaet wee w1 am fofew |

29.3  TfRAUT 3TSHIRT o Teh STAUTT ATY-TxHH 1 Ieoid ShifTT |

29.4  HTST % Ush (Hele WU &R 1 71 feTfaT |

29.5  Tire o T mEwaqul Stermmt @ AW fRaw |

29.6  3THIehT o Tsh TCTdTE! TIROT & T 7 feafau |

29.7 Il o U forega anfurfoues ST Sy & w1 A fefau |

30. feu U wa % UsHifae W@T-amfee v fefaled 3 @ 6 g dimfers @eon o
IR Fagl g gurise 3R 3k A1 forflaw | 5x1=5
30.1 e § Wiig- 3k 6l Tewyu @

30.2  °h(cT 1 U Hew@qUl THE-T7H

30.3  TSTEYM &l Teh dfd hl @H

30.4 @R ¥ U qeAsed HREHT

30.5 U H Ueh JIUEH ag-uad

30.6 Gtk JTEEHT Tcd 9Tl Ueh Ty

30.7  S[g 3T H UM Tk UsA

e fatated v Haa gRafta waiia & foe g dem 30 S WA | E |
Topegi diter o1 S ferfa 5x1=5

30.1  3nfEe = U Y <itg - 37k @ & i T foAfeT |

30.2  hTdl o Ueh &T G- 1 919 feIRaw |

30.3  TSTEYM o Ueh qlell G &1 Sl ATH Iooi@ hINT |

30.4 TogR ¥ Ush deANe SHREH o T 1 M forfau |

30.5 UM H 3H T 1 A folRaT ST&f T STRigH arg-To- fRa & |

30.6 T SHEEIT BFcd ool T bl 9 fIRay |

30.7 S IcATEH T i &1 T 3t B 7
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 29. Answer any
five : 5x1=5

29.1 Name the major seaport in Germany.

29.2  Name the easternmost terminal station of Trans-Siberian Railway.
29.3  Mention an international airport in South Africa.

29.4  Mention an area of subsistence gathering in Canada.

29.5 Name an important waterway of Egypt.

29.6  Mention an area of nomadic herding in Africa.

29.7 Mention an area of extensive commercial grain farming of
Australia.

30. On the given political outline map of India, locate and label any five of
the following geographical features with appropriate symbols. bx1=5

30.1 Important iron ore mines in Odisha.

30.2 An important seaport in Kerala.

30.3 A copper mine in Rajasthan.

30.4  An oil refinery in Bihar.

30.5  An international airport in Punjab.

30.6 A state with highest density of population.
30.7 A state leading in the production of jute.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 30. Attempt any
five : 5x1=5

30.1 Name an important iron ore mining area in Odisha.
30.2 Name the main sea port of Kerala.

30.3  Mention the name of a copper mining area of Rajasthan.
30.4 Name the place of an oil refinery in Bihar.

30.5 Mention the name of a place where an international airport is
located in Punjab.

30.6 Name the state with highest density of population.
30.7  Which is the leading state in the production of jute ?
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